ANNUAL EXAMINATION 2015-16
SUB: Maths (Tfora)
Class : VIII

Time : 3 Hrs. MM: 100

SECTION — A (9 — 9)

9.1  Fillin the blanks (FTell 9 ¥R)) 20
1. 3G BT BT e BT & |
Angle in a semi Circle 1S ......cooveervieiniiceneenne.
2. ol g @7 aRAMT BT BT HEd |
Perimeter of a circle is also called its ..........cccooceeeiiiiiinneenns
3. U GHIQS @ UH YT 5 T AT SaTs 4 W T | BT SFABA BT
Side of a rhombus is 5 cm and its height is 4cm it area is ......cccoecvveeeennee.
4 2 X m
3
5. 15m’n+5m® =i
6. I b D F FAM R W R SN o Il € |
The chords equidistant from the centre of a circle are .............ccccveenenn.
TR S S
S )
9. iz TN Y&l f7a+l 918 |fed 81T 8, 98 DI o FHEAR % |
The number of times a particular observation occur is called its ............cc..........
10. (a—b+c) = +(=b) +c? +2a(=b) + ... .. S :
1)
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Define (IR forfEm) 10
1. HHIN HEY  (Arithmetic mean) 2. T%)PJ &% (Surface Area)

3. (Right circular cone)

SECTION - B (@vs— §) (3x10=30)

gol  (Solve)

4x+3 3
2x+7

AT  (Divide)
\/§x4by 5x°

U FHIR AgYol BT &ABel 400 HI° & | IS IHDT MR 25 H &, Al HdAg A
DIFTY |

The area of a parallelogram is 400 sq.m if its wase 1s 25m, find its height?

U g & AER BT AR 12 A4 & | SHDI Hds 8 WA €| 59 g BT a5
U &A% A DI | (rakerw=3.14)

The diameter of the base of a cone is 12cm and its height is 8cm. Find the curved surface

area of the cone (raker=3.14)

g ®X (Solve)

(- y-12)=(y-4)

IIT 3 & UAH UM (Ud (Multiples) BT HEI ST HIFTT |

Find the mean of first five multiples of 3.

9 9 g T BT 9 g &A% = ditoy | e $ars 10 /HN § e
roar 7 | 27

Find the area of the right circular cone whose slant height is 10cm and radius is 7cm.
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10.

N

Y.2.

9.3.

U4

TR BN (Simplify)

9x* —24xy+16y° 16m*> —9n®
3x—4y ' 4m—3n

x BT 99 S & | (Value of x)

U FHAAGYS D Sl 6.5 Al TAT TS 4 T € | THBT &TH ST DI |

A side of a Rhombus is 6.5 cm and its height is 4cm. Find its area.

SECTION - C (@vs— ¥§) (4x5=20)

I AAG APHS DI AR oIl BT AN A1 DI RTHDT &b 42 Al
3R T8 280 T B |

Find the sum of the length of parallel side of a trapezium whose area is 4.2 sq.m and

height is 280 cm.

TS aqYST BT &= 400 A 8| TS Aol B oIS 20 W E| TH W G
ot & STl T AT BT ART S B |

Area of a quadrilateral is 400 sq.m length of a diagonal is 20m. Find the sum of the

lengths of the perpendicular drawn from opposite sides?

AT T | 5x(x* —x+D—(O+4x*)bydx—1

Divide 5x(x* —x+1)—(9+4x*)bydx—1

If divided is 8¢° + 64> +4g —1 divisor = 4q+2, quotient is 24> +%q +% and Remainder is

_75 check whether the given polynomial is equivalent.

MR I 8¢° +6¢> +4q—19T9Tdh = 4q+2, ANTHA 2q2+%q+% 3R oy _75 g ar

HT &A1 AT IgUG BT AT DIy |
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9.5.

91

BryeT & W9 YT 12 FHI, 11 T 3R 15 FHT BR[ST BT &F%he S BIfoTY |

The side of a triangle are 12cm, 11cm and 15cm. Find the area of the triangle.

SECTION - D (@vs— ) (10)

<1 I8 AU & IMMER WR &S B AThid IATBR 8Bl S DI |

40 Ed®

Hex

B dd
80

60
40

0
Ad

30 D d®

20 Cd®d

Draw diagram of the following region on the basis of the given measurement and find the

arca.

40upto E

Metre

UptoB
80
60
40

From A

30uptoD

20upto C

C))

https://www.evidyarthi.in/





